Cost & Production Analysis

Cost Concepts

Cost is the sacrifice incurred by a firm to invest on one resource to over the other to optimize its production process. 

Why cost is important for management?

· To maximize the profit (Revenue – cost is profit) >> Influencing cost is more possible than influencing revenue

· For strategic decision making

· For pricing

· For future reference

Types of costs
1. Actual (or acquisition or outlay) costs and opportunity costs:

a. Actual costs are the costs that the firm incurs while producing or acquiring a good or service. Examples: cost of raw materials, labor, rent, etc.

b. Opportunity costs are not actually spent by the firm but are the benefit that a firm forgoes from the alternatives of a decision when the decision is implemented. 

2. Outlay costs and Sunk costs:

a. Outlay costs are nothing else other than Actual costs

b. Sunk costs are the part of outlay costs. They are not altered by a change in quantity and cannot be recovered. Example is depreciation. 

3. Explicit (or, paid-out) costs and Implicit (or, imputed) costs:

a. Explicit costs are those costs that are actually paid out by the firm. These costs appear in the books of accounts. 

b. Implicit costs are theoretical costs and goes unrecognized by the accounting system. 

To explain the difference between explicit costs and implicit costs we can take the following example. Mr. B invested Rs. 50,000 and borrowed Rs. 1,00,000 from Mr. B to start his business. He must pay 10% interest on the principal amount to Mr. B. In the example, the interest that Mr. A is paying to B is explicit cost and will appear in the books of accounts. But the interest Mr. A could get from his investment is implicit cost and will not be considered in Accounting system.

4. Opportunity costs and Implicit costs:

Implicit costs are the part of opportunity costs.

5. Incremental (or, avoidable or, escapable or, differential) costs and sunk (or, non-avoidable or, non-escapable costs)

a. Incremental costs are the additions to costs resulting from a change in the nature and level of business activity. These costs can be avoided by keeping the proposed changes away.

b.  Sunk costs are unavoidable.

6. Book-costs and out-of-pocket costs:

a. Out-of-pocket costs are the costs that a firm actually incurred and paid in cash. Example, rent paid, salary paid, etc.

b. Book costs are not actually paid but are recorded in the books of accounts. For example, the provision created for bad debts or provision for depreciation.

7. Accounting costs and economic costs:

a. Accounting costs are actual or outlay costs

b. Economic costs relate to future. They include both imputed and the explicit costs as well as the opportunity costs.

8. Direct costs and indirect costs:

a. Direct costs have a direct relationship with a unit of operation.

b. Indirect costs have no direct relationship with the business operation but are the costs a firm is spending.

Example, for an institution salary paid to the lecturers are direct costs but expenses paid on transportation is indirect

9. Replacement costs and original costs

Suppose a machine was purchased in 1998 at Rs. 15,000 and in 2006 we can purchase the same machine at Rs. 25,000. So, Rs. 15,000 is the original cost or historical cost of the machine and Rs. 25,000 is its replacement cost.

10. Urgent costs and postponable costs

11. Incremental costs and Marginal costs

12. Fixed costs and Variable costs

a. Fixed costs are that portion of the total cost the firm, which will not vary with output. For example the cost of land and building, property taxes, cost on machinery, etc.

b. Variable costs, on the other hand are directly dependent on the volume of output or service. Variable cost increases but not necessarily in the same proportion as the increase in output. Examples are cost on raw materials, labor, etc.

c. In economics we consider another variety of cost called semi-variable costs. As we found, variable costs vary in response to every change in output. However, there are certain costs, which may not vary in every change in output but varies in response to a range of change in output. For example, telephone bills, wages paid to the supervisors, etc.

13. Short-run costs and long-run costs:

In economics, we classify the business period into short run and long run. If during a period of time, at least one of the factors of production remains unchanged then we call the period as short-run. In contradiction to short run, during long run all the factors of production are subject to change.

What the conclusion is that, in short run, only variable costs are considered and in long run, both variable costs and fixed costs are included.

14. Total cost, Average cost and Marginal cost

a. Total cost represents the money value of the total resources required for production of goods and services by the firm. 

b. Average cost is the cost per unit of output, assuming that production of each unit of output incurs the same cost.

AC = TC ÷ Q 

Where AC is the average cost

TC is the total cost

Q is the Number of units produced

c. Marginal cost is the additional amount of cost spends by the firm to produce one additional unit of output.

MC = TCn – TCn-1
Where MC is the marginal cost

TCn is the Total cost spent to produce n units of output

TCn-1 is the Total cost spent to produce n-1 units of output

Relationship between TC, AC, and MC
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Theory of cost: Cost-output function

To understand the cost-output function, first we must study about the determinants or factors that influence cost. Cost function expresses the relationship between cost and its determinants like the size of plant, level of output, input prices, technology, etc.

Main determinants of cost:

1. Size of plant: Size of plant is having a greater influence on the cost. Size of plant holds a negative relationship with the cost per unit. This means, when the size of plant increases, cost per unit of output decreases.

2. Output level: Level of output and total cost are surely related that when the level of output increases, total cost also increases, though may not be at the same ratio. Nevertheless, the case of average cost and marginal cost are different. Both, Ac and MC, declines first and then increases when there is a constant increase in the output.

3. Price of inputs: Changes in the price of inputs affects the cost directly. This means when the price of inputs increases TC, MC, and AC increases and vice versa.

4. Technology: Technology is often counted as capital-output ratio. Modern and efficient technology is always cost effective and advisable.

5. Managerial efficiency: Though cost is influenced by managerial efficiency, it is difficult or almost impossible to quantify it.

Now we can draw the cost function as C = f(S,O,P,T,…)


Where C refers to cost (unit cost or total cost)




S refers to the size of plant




O refers to level of output




P denotes the price of inputs used in production




T means the nature of technology used in production process
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